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265 circles in an isosceles right triangle
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268 circles in an isosceles right triangle
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271 circles in an isosceles right triangle
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274 circles in an isosceles right triangle
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266 circles in an isosceles right triangle
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269 circles in an isosceles right triangle
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272 circles in an isosceles right triangle
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radius =  0.022160697725 density = 0.839296925650
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275 circles in an isosceles right triangle

radius = 0.022055886261  density = 0.840546200210
ratio = 45.339370549821 contacts = 563
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267 circles in an isosceles right triangle

S

O
Do
g

O

ué

B'
e
o

) C
s
°e

=
é,

D C
5
Otk

O
8
S

O

OOO)
e
)

)
1f
2%

-

5

OY9S00) .
OO 6 I ®)
SEOSeEESC. S5

57

(D
~OOSE) AV e
S S S ™

radius =  0.022363264305  density = 0.838999154129
ratio = 44.716191087483 contacts = 480
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270 circles in an isosceles right triangle
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273 circles in an isosceles right triangle
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276 circles in an isosceles right triangle
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radius = 0.022010358605 density = 0.840123604845
ratio = 45.433153449550 contacts = 650



